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π(x)
π

π(5) = 3, π(100) = 25,

π(1000) =168

π(x)
x

log x
(x →∞)x



10 4 4.3

102 25 22

103 168 135

104 1229 1086

105 9592 8686

106 78498 72382

107 664579 620421

108 5761455 5428681

109 50847534 48254942

1010 455052511 434294482

1011 4118054813 4287977972

π(x)
x

log x

(x →∞)
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ζ(s) = 0s

ζ(s) = 0
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2
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  ζ(−1) =1+ 2 + 3+ 4 + =


